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1.Measure the side of the red square on the dotted sheet. Draw here as many
rectangles as possible using 12 such squares.

* How many rectangles could you make?
Ans.The side of the square is 1 centimetre.

Following figure shows the possible rectangles using 12 such squares.
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There are 7 rectangles.

2 rectangles are of size 1 x 12 centimetre.

1 rectangle is of size 2x 6 centimetre.

4 rectangles are of size 3 x 4 centimetre

Hence, number of rectangles =2 +1+4=7

2.Which of these rectangles has the longest perimeter?

Ans. Perimeter of rectangle measuring 1 x 12 cm

= 2 (length + breadth)

=2(1+12)

=2x13=26cm

Perimeter of rectangle measuring 2x6 cm = 2 (length + breadth)
=2(2+6)

=2x8 =16 cm

Perimeter of rectangle measuring 3x4 cm = 2 (length + breadth)
=2(3+4)

=2x7=14cm

Hence, the rectangle measuring 1 x 12 cm has the longest perimeter.
3.Which of these rectangles has the smallest perimeter?

Ans. The rectangle measuring 3 x 4 cm has the smallest perimeter.

Measure Stamps
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Stamp D covers 12 squares. Each square is of side 1 cm. So the area of stamp D
is 12 square cm.

Look at these interesting stamps.

(a)How many squares of one centimetre side does stamp A cover?
Ans. Area = length x breadth

=6 x3 =18 square cm

*And stamp B?

Ans. Area = length x breadth

=4 x2=8squarecm

(b)Which stamp has the biggest area?

Ans. Stamp A has the biggest area.

*How many squares of side 1 cm does this stamp cover?
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Ans. This stamp covers 18 squares of side 1 cm.
*How much is the area of the biggest stamp?

Ans. 18 square cm.

(c)Which two stamps have the same area?

Ans. Stamp D and F have the same area.

*How much is the area of each of these stamps?

Ans. The area of stamp D and F each is 12 square cm.
(d)The area of the smallest stamp is —— square cm.
Ans. 4 square cm

*The difference between the area of the smallest and the biggest stamp is
square cm.

Ans. Area of biggest stamp — area of smallest stamp

=18 — 4 =14 square cm.

Page 36

Guess

(a)Which has the bigger area-one of your footprints or the page of this book?
Ans.The area of page of this book.

(b)Which has the smaller area-two five-rupee notes together or a hundred rupee
note?

Ans.A hundred rupee note.
(c)Look at a 10 rupee note. Is its area more than hundred square cm?

Ans.No, the area of 10 rupee note is less than 100 square centimetre.
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(d)Is the area of the blue shape more than the area of the yellow shape? Why?

Ans.No, the area of blue shape is equal to the area of yellow shape. This can be
easily proved by taking a cutout of these shapes and by calculating their areas
using the square grid paper.

(e)ls the perimeter of the yellow shape more than the perimeter of the blue
shape? Why?

Ans.No, the perimeter of yellow shape is less than the perimeter of the blue
shape. This can be proved by measuring their boundaries by ruler or by thread.

How Big is my Hand?
Trace your hand on the squared sheet on the page.
How will you decide whose hand is bigger-your hand or your friend’s hand?

What is the area of your hand?

square cm.

What is the area of your friend’s hand? square cm.
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Method

On a squared sheet paper, trace your hand and your friend’s hand. . Count the
number of complete squares, half filled squares, more than half filled squares and
less than half filled squares.

Neglect the less than half filled squares.

Take the sum of complete squares and more than half filled squares to get the
value of area.

For figure A: Number of complete squares = 6
Number of half filled Squares =7
Number of more than half filled squares = 6

Area=6+7/2 +6
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For figure B: Number of complete squares = 13
Number of half filled squares = 4

Number of more than half filled squares =13
Area=13 +6/2 + 13

=13+ 3 +13 =29 square cm
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My Footprints

*Whose footprint is larger-yours or your friend’s?
*How will you decide? Discuss.

*Is the area of both your footprints the same?
My footprint is longer!

But my footprint is wider. So whose foot is bigger?

Ans. My footprint is larger than my friend’s footprint.

*We can decide by finding the areas of these footprints.
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*Yes, the area of both of my footprints is the same.

NCERT 5th Maths Chapter 3, class 5 Maths Chapter 3 solutions
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1.Guess which animal’s footprint will have the same area as yours. Discuss.

Here are some footprints of animals-in actual sizes. Guess the area of their

footprints.

Hen

Ans. The footprint of a monkey may be similar in area as my footprint.
Area of hen’s footprint

= 3 square cm (approximately)

Area of dog’s footprint

= 10 square cm (approximately)

g ‘11 1 il i


https://www.indcareer.com/schools/ncert-solutions-for-5th-class-maths-chapter-3-how-many-squares/
https://www.indcareer.com/schools/ncert-solutions-for-5th-class-maths-chapter-3-how-many-squares/

@II IV Wwdl TGl

NCERT 5th Maths Chapter 3, class 5 Maths Chapter 3 solutions
Page 39

1.Make big squares and rectangles like this to find the area faster.

Ans. For (P) Area=5+2/2+7

=5+1+7=13 square cm
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For (Q) Area=7+2/2+4
=7+1+4=12square cm
For (R)Area=6+0/2+9
=6+9=15square cm
For (S) Area==4+0/2+6
=4+ 6 =10 square cm
For (T) Area =96 + 4/2 + 21
=96+ 2+ 21 =119 square cm
NCERT 5th Maths Chapter 3, class 5 Maths Chapter 3 solutions
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How Many Squares in Me?
1.What is the area of this triangle?
Ans. The area of this triangle = 1 square cm.
2.Is this shape half of the big rectangle?
Ans. Yes, this shape is half of the big rectangle.
3.The triangle is half the rectangle of area 2 square cm. So its area is square cm.
Ans. 1 square cm

4 Hmm

So its area is square cm.
Ans. 4 square cm.

5.Write the area (in square cm) of the shapes below:
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Ans.Area of triangle A = Half of area of rectangle

=1/2 x 12 = 6 square cm.

Area of square B = 4 complete squares + 8 half squares + 4 quarter squares
=4+1/2x8+1/4x4

=4+4+|=9squarecm

Areaof shape C=2+1/2x0+2

=2+ 2 =4 square cm

Areaof shapeD=5+1/2x2+0
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=5+1=6squarecm

Area of shape E=18+1/2x6+ 0

=18 + 3 = 21 square cm

Areaof shape F=4+1/2x0+4

=4 + 4 = 8 square cm.

NCERT 5th Maths Chapter 3, class 5 Maths Chapter 3 solutions
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Try Triangles

Sameena: Both the big triangles in this rectangle have the same area.
Sadiq: But these look very different.

1.The blue triangle is half of the big rectangle. Area of the big rectangle is 20
square cm. So the area of the blue triangle is square cm.

Ans. Area of the blue triangle = 1/2 x 20 = 10 square cm
2.And what about the red triangle?

Ans. The area of red triangle is half of the area of rectangle.
Hence, area of red triangle = 10 square cm.

Ah, in it there are two halves of two different rectangles!

3.Now you find the area of the two rectangles Sadiq is talking about. What is the
area of the red triangle? Explain.

Ans. Area of two rectangles = Area of red rectangle + area of green rectangle
=(3x4)+(4x2)

=12 + 8 = 20 square cm Hence, area of red triangle together
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= Half of area of both rectangles together
=1/2 x 20 = 10 square cm.
Hence, both triangles have the same area.

4.Yes you are right. And you know what! You can draw many more triangles of
area 10 square cm in this rectangle. Try drawing them.

Help Sadiq in finding some more such triangles. Draw at least 5 more.

Ans.

=

7

/ -

I\

T
AN 2SN
=N
Four triangles havihg Five triangles having
area 10 cm? area 10 cm?

NCERT 5th Maths Chapter 3, class 5 Maths Chapter 3 solutions
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Complete the Shape

1. Suruchi drew two sides of a shape. She asked Asif to complete the shape with
two more sides, so that its area is 10 square cm.

Ans.
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2.How did you do this?

Ans. Oh that’s easy ! If you look at the green area it is 4 square cm. Below it is the
yellow area of 6 square cm. So the area of my shape is 10 square cm.

3.Is he correct? Discuss.
Ans. Yes, he is correct.
4.Explain how the green area is 4 square cm and the yellow area is 6 square cm.

Ans. Area of green portion = Number of complete squares + Number of half filled
squares

=2+1/2 x4 =2+ 2 =4 square cm

Area of yellow portion = Number of complete squares + Number of half filled
squares + Number of more than half filled squares

=3+1/2x2+2
=3+|+2=6squarecm
Page 43

Suruchi : Oh, | thought of doing it differently! If you draw like this, the area is still
10 square cm.
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1.Is Suruchi correct? How much is the blue area? Explain.

Ans. Yes, Suruchi is correct.

Explanation: Area of green triangle

= Half of area of rectangle measuring4x2=1/2x4x 2
=2x2=4squarecm

Area of blue triangle = Half of area of rectangle measuring 4x3 =1/2x4x 3
=2 x 3 =6 square cm.

Hence, total area =4 + 6 = 10 square cm

2.Can you think of some other ways of completing the shape? Try some other
ways yourself.

Ans. We have read that the area of a triangle is half of area of a rectangle with
same height and breadth.
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Hence, we can make a rectangle with area 12 square cm.
After that we can draw as many triangles in it as possible.
It is shown in the adjoining figure.

Practice Time

1.This is one of the sides of a shape. Complete the shape so that its area is 4
square cm.

Ans. Join two ends of the line to make a triangle. The area of this triangle can be
calculated as follows:

Number of complete squares + Number of half filled squares
=1+1/2 x 2 =1+1=2/2

Now a mirror image of triangle can be created on the other side of the longest
side so complete the rectangle. The area of this rectangle is 4 square cm.

2.Two sides of a shape are drawn here. Complete the shape by drawing two more
sides so that its area is less than 2 square cm.
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Ans. If two lines are joined, we get a triangle. The area of the triangle is 1 square
cm. A mirror image of the triangle is drawn below the triangle to get a rectangle.
The area of this rectangle is 2 square cm. Now, draw a point just above the
bottom vertex of the rectangle and join the given sides with this point. This will
give a rectangle with area less than 2 square cm.

3.Here is a rectangle of area 20 square cm.

(a)Draw one straight line in this rectangle to divide it into two equal
triangles.What is the area of each of the triangles?

Ans.
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A straight line can be drawn as shown in this figure to divide the rectangle into
two equal triangles.

Area of each triangle = 1/2 x Area of rectangle = 1/2 x 20 =10 square cm

(b)Draw one straight line in this rectangle to divide it into two equal
rectangles.What is the area of each of the smaller rectangles?

Ans.
A B E
D C E

A line can be drawn as shown in this figure to divide the given rectangle into two
equal rectangles. Similarly, a horizontal line can also be drawn to divide the given
rectangle into two equal rectangles.

Area of each smaller rectangle=1/2 x Area of bigger rectangle
1/2 x 20 = 10 square cm

(c)Draw two straight lines in this rectangle to divide it into one rectangle and two
equal triangles.

What is the area of the rectangle?
What is the area of each of the triangles?

Ans.
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Area of rectangle = 10 square cm

Area of each triangle = 1/2 x area of smaller rectangle

=1/2 x 10 =5 square cm

4.Every time guests come home, | ask them to do this. But why do they run away!
Ans. They may not be aware that this problem is so easy to solve.

Page 45
Puzzles With Five Squares

1.Measure the side of a small square on the squared paper. Make as many shapes
as possible using 5 such squares. Three Eire drawn for you.
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(a)How many different shapes can you draw?

Ans. 12 different shapes can be drawn using 5 such squares.

(b)Which shape has the longest perimeter? How much? cm
Ans. The perimeter of all shapes (except fig no. 3) is 12 cm.

(c)Which shape has the shortest perimeter? How much?

cm

Ans. The perimeter of shape 3 is the shortest.

(d)What is the area of the shapes?

square cm. That’s simple!

Ans. Area of each shape is 5 square cm, because each of them is made of 5
similar squares.

Page 46-47
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1.Draw all the 12 shapes on a sheet of cardboard and cut them.

Ans. Yes, | got all the 12 shapes using 5 squares. You can also draw them on a
squared sheet paper or on a cardboard sheet.

2.Try to arrange your 12 shapes in some other way to make a 10 x 6 rectangle.
Could you do it?

Ans. The side figure shows 12 shapes arranged in a different way to geta 10 x 6
rectangle.
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Try Another Puzzle

You have to make a 5 x 12 rectangle with these 12 shapes.
There are more than 1000 ways to do it. If you can find even one, that’s great!

Ans. The following figure shows one of the arrangements of 12 shapes to make a
5 x 12 rectangle.
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Page 48

Ziri went to a shop and was surprised to see the different designs of tiles on the
floor.

Aren’t these beautiful!

Can you find the tile which is repeated to make each of these floor patterns?
Circle a tile in each pattern.

After looking at the pattern Ziri wanted to make her own yellow tile. You too make
a tile this way.
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paper. Draw a square of side 3 cm on it.

Step 2:Draw a triangle on any one of the sides of this square.

Step 3:Draw another triangle of the same size on another side of the square.
This triangle should be inside the square.

Step 4:Cut this shape from the cardboard. Your tile is ready! What is it’s
area?

Ans. The area is 3 x 3 =9 square cm.

Page 49

Make a pattern using your tile. Trace the shape to repeat it on a page, but i
remember there must be no gaps between them. Ziri made a pattern using her
yellow tiles. (You know the area of her tile).
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*How many tiles has she used?

Ans. She has used 12 tiles.

*What is the area of the floor pattern Ziri has made here?

Ans. Area = length x breadth

=12 x 3 = 36 square cm

Practice Time

Ziri tried to make some other tiles.

She started with a square of 2 cm side and made shapes like these.
Look at these carefully and find out.

— Which of these shapes will tile a floor (without any gaps)? Discuss.
What is the area of these shapes?

— Make designs in your copy by : tiling those shapes.

— Now create your own new tiles out of a square. Can you do the same with a
triangle? Try doing it.
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The area of these shapes = 2x2 = 4 square cm. Following designs can be made by
using these shapes.

Design by using shape C:
N
i}g

Design by using shape D:

EEIT
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Some of the designs which can be made from a square are given below.
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This can also be done using triangular tile as follows:

NCERT 5th Maths Chapter 3, class 5 Maths Chapter 3 solutions
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Chapterwise NCERT Solutions for
Class 5 Maths :

e Chapter 1: The fish Tale

e Chapter 2: Shapes and Angles

e Chapter 3: How Many Squares?

e Chapter 4: Parts and Wholes

e Chapter 5: Does it Look the Same?
e Chapter 6: Be My Multiple, I'll be Your Factor

e Chapter 7: Can You See the Pattern?

e Chapter 8: Mapping Your Way

e Chapter 9: Boxes and Sketches

e Chapter 10: Tenths and Hundredths

e Chapter 11: Area and its Boundary

e Chapter 12: Smart Charts

e Chapter 13: Ways to Multiply and Divide

e Chapter 14: How Big? How Heavy?
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About NCERT

The National Council of Educational Research and Training is an autonomous
organization of the Government of India which was established in 1961 as a literary,
scientific, and charitable Society under the Societies Registration Act. The major
objectives of NCERT and its constituent units are to: undertake, promote and
coordinate research in areas related to school education; prepare and publish model
textbooks, supplementary material, newsletters, journals and develop educational kits,
multimedia digital materials, etc.Organise pre-service and in-service training of
teachers; develop and disseminate innovative educational techniques and
practices;collaborate and network with state educational departments, universities,
NGOs and other educational institutions; act as a clearing house for ideas and
information in matters related to school education; and act as a nodal agency for
achieving the goals of Universalisation of Elementary Education.In addition to research,
development, training, extension, publication and dissemination activities, NCERT is an
implementation agency for bilateral cultural exchange programmes with other countries
in the field of school education.Its headquarters are located at Sri Aurobindo Marg in

New Delhi. Visit the Official NCERT website to learn more.

élndCareer


https://ncert.nic.in/
https://www.indcareer.com/schools/ncert-solutions-for-5th-class-maths-chapter-3-how-many-squares/
https://www.indcareer.com/schools/ncert-solutions-for-5th-class-maths-chapter-3-how-many-squares/

